=y AB A VEPEEE 1-T-A-B Check 62~65, 224~230 g

[f62] T—% DTHE, FRIE, &IFE +(9—85)%+(5—8.5)*+(7—8.5)*+(7—8.5)%

=PT A EASVIRISIERS £ =L12.95+0.25+ 025+ 20.25 + 0.25 + 12.25 + 2.25 + 2.25)
1,33 4 55 56 6 6 7,7 7 7,8 8 9, 9, 10, 10 8
AT é 40=5
2i0<1+3><2+4+5><3+6><3+7><4+8><2+9><2+10><2) 2i0><126 6.3 (%) P31z s.=+/5 ()
e %:6.5 () }=%<4+7+1o+15+12+8+7+9>=%><72=9 ()
RO TR EoT 5= {4924 (7T— 9 +(10—9)+(15—9)?
[FA631 B0 FRA SHEABMND & E LTELLEDEES 8
F 2 | B OB OTROFRENIEICH 5, 100 ARENT 2 b B OS2 +(12=9/+(8—9)"+(7T—9)"+(9-9)}
ST E SN, ZORNB DB AR, =%<25+4+1+36+9+1+4+0)=%><80=10
EoT, DIEE LN ERETE A,
100 A0 4 500 1 D IBIE 25 AT, 72k A DROFRIZENT, 81 Wk P20 $=v10 6
40 £ 1 0 (T, ?z%(10+8+9+13+9+5+7+7)=%><68=8.5 ()
EoT, @IEELWERETE 5, 1
ZOROTRNDE, ZRZAOT A N TEHAD 60 HADAEED ANEFARD 2 L it F=g (10748 + 97+ 135+ 9* 4+ 55+ T+ T°)
TERUN, 1 1
G2z, EHBEOT A LOHHR 60 HEDEENENITDN B, =g (100+064+81+169+81+25+49449) =5 X618 =77.25
£oT, @EELNEBETE R, EoT s =2"—(2)?=7725—85=5 s5,=5 ()
TA N A OFOMNFTHITEBWT, & 3USNED 60 HElldHHow, 70 mLl EOERE _ 1 1
95 JLLF 5. y:§(4+7+10+15+12+8+7+9)=§><72=9 ()
%72, 72k BOKOFRIZHNT, R 70 A H D=0, 70 UL Lo EEE L 10 1 12 B T4 9
50 ALLETH D, 8
£oT, WIFELWEWTETE D, %(16+49+100+225+144+64+49+81) %x728=91
PEsE, ELWEHETES b0 @, @ _
[RH641 7 — % DAE, IEERE. 85 1Y ESLDHLE FoT o st=yt () =91-97=10, 5, =410 (&)
X, yOF—ZOVHEE x, y, HE sk 52 EWEREEs,, s, LT 5, 2 1) Xy, EHERKEZVOIE  yOF—¥
_ 1 72, yOTFT—FOFPEEREDRENDND, T —FZOYEHENS OB HIXY DES
x:§(10+8+9+13+9+5+7+7)=§><68:8.5 () WAKENDIE gy OF—&
FoT s =1{(10—85)7+(8—85)72+(9—8.5)2+(13—85)
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[F165] & & & A E DR R

x DNELE x &,y OFHIE y 1%
1 855

_=€<181 +167+173+169 +165) =—2> =171
é<75+59+63+67+61> 355 — 65

LoT, x DIEMERESs,, y OMEMERZESs, IX

s, = «/l{(181 —171)2+ (167 — 1712+ (173 — 171)2+ (169 — 171)2 + (165 — 171)?)

«/5 (1024 (—4)2 4 22+ (—2)2 4 (—6)2) = 160 —42

s,= «/ —{(75—65)2+ (59 — 65)2 + (63 — 65)2 + (67 — 65)% + (61 — 657

«/—102 + (=22 4224 (—4)% = 160 =4./2

5 ND x DIFZEL y DIREZEOFEIZZENZE N
(181 —171)-(75—65) =10- 10 = 100,
(167 —171)+ (59— 65) =(—4)-(— 6):24
(173 —171)- (63 —65) =2+ (—2) = —
(169 —171)- (67 —65)=(—2)-2 = —
(—

(165 —171)- (61— 65) = (— > 4>
L7iziio T, x & yDIHHs,,
sxy=%{1oo+24+<—4>+<—4>+24}=1;;‘)0=28

o Sy 28 7
LT, x & yOMHBEREKr X r= S, AVT YT 8
7

§:0.875 THDHMNG, WG Iz FETLA LT 0.88

[R5224 (1) 1A" 410, a+b=(1, 4), a-2b=(4, -5) D & & | 2a-b]|

a+b=(1, 4 ©, a—2b=(4, —5) - @ &35,
D—@ »6 3b=(—3, 9)
DIz, DLV a=(2, 1)
LoT 2a—5=22, 1)—(—1, 3)=(5, —1)

D217 |2a—b| =+/52+(—1)2 =
D, @ DWxEMz5E 2a—b=(5, —1)

Yo7 |2¢—3|=+/5%+ (=17 =

[R5H224 (2) IA" H1b. c=xa+yb & i#E -9 x, yD{E
xa+yb=x1, 2)+ 9 —2, 3)=(x—2y, 2x+3y)

c=xa+yb t+BHL (=3, 8)=(x—2y, 2x+3y)

roT x—2y=-3, 24+3y=38 INEMHNT x=1, y=2
[R224 (3) 1A  4hum=(1, p), n=(p+3, 4) KA F4TD & = Dp

mLn BT ThL L, n=km (135 LR D,

LT (p+3, 4)=k1, p)

DZIT pA+3=k oo @, d=kp - ®
D% @IRALT  4=(p+3)p
£oT pPH3p—4=0 PRIT (p=1Np+4)=

L7z » T p=1, —4

[RS225 (1) 1A Ahh. a=(1, -2) &b=(-3, 1) DPFEa-b

a=(1, —2), b=(-3, 1) THHM1D a-b=1x(-3)+(—2)x1=-5

[225(2)1]al=1, |b|=2, (a-b) L (ba+2b) Hhr5A" Jhla, bD T A

a—b, 5a+2b BEETHLH,E  (a—b)-(5a+20)=0

ko 5lal”—3a-5—2/6/*=0

ld =1, |b|=2cHr05  5x12—3a-5—2x22=0

SREMNT  a-b="—1

a b bDTHEO0°<O<180°) L+ 5L, a-b=|d||blcosd THBME
1

1X2cosf =—1 i dhd cosﬁ:—g
0°<0<180° TH DB 0 ="120°
[F226] A mENDREN HIMTERT
(7) OC= 517ﬁ+5i7ﬁ§—1720A+%0B—1—720A+<1 172>ﬁ§
LT s=%




() CD=0D-0C=7——pFO0A+ 7 OB 0C
:<7_—_{10_A>+%@)>—<1—720_A>+%@>
=2 0A+10B--0A—— 0B
- 208~ 2 0A=2(0B-04) = 24

Lo T tz%

[R5227]1A° S, a= (=7, 4) , b=(2, -3) D & = |a+tb | D E /N
arth=(—T7, 44142, —3)=(—T+2¢ 4—3¢)
YoT |a41b|°=(=7+202+(4—312=13t2— 52/ +65=13(—2)>+ 13

a+th|P AN D L X,

la+1b|=0 cH BN,

Yo7, lattbl 13t="20 L x5/ME V13 &L 5,
[R1228] MEADIDDHNR R EN IMTRT
OP=%OA=%Z

0G=1150B=1b
ﬁizﬁzz@}l—izo_c’:%3+%z
QPzOP—OQz%Z—%Z
QR:OR—OQ=<%Z+%Z>—%Z=%Z+%E

(51229 (1) ] 28 £ RS ABDC A 47 PU i 7% = 75 B s D 0D FEAZ

D OEEE (x, y, 2) &3<,

447 ABDC WA OFIC 722 % & & AB=CD

AB=(-2, 2, 0), CD=(x+1, y+1, 2=3) THHMH
x+1=-2, y+1=2, z—-3=0

INEMS E x=-3, y=1, z=3

YoT, K5 EDOEET (=3, 1, 3)

a+th] bEANERD,

[f229 (2) |EERZERD i A —ERLICHEEH

3 A, B, CHA—EHICHD7-DDEME, AC=EAB L 225 b NMEET D - &

ThD,

AB=(3, 6, —3), AC=(a—1, b+1, —5)
YoT  (a—1, b+1, —5=(3k 6k —3k)

Pz a—1=3k - D, b+1=6k - @, —5=—3k - ®
5

@mb k=3

O, @75 a="6, b="9

[A230] ERZEMDRAEZ oM 3R ERBATELICHLIEH

A D23 EmE ABC Bl b &%, AD=sAB+tAC(s, tI3ZEH) LR NHND
(m+6)—1, 1—1, (m+10)—1)
=s(2-1, 3—-1, 2-1)+¢#-1-1, —-2—-1, —-3-—-1)

ThhbbH (m4+5, 0, m+9)=(s—2¢, 2s—3t, s—4t)

£oT m—+5=s—2¢ - )
0=2s—3¢t - @
m+9=s—4¢ -----. ®

O-B £V —4=2¢ PzIZ t=-—2

e QITRATHE 0=2s—3X%X(—=2) Lo T s=-3
s==-3, i=—2%2QIZfkATEHLE m+5=-3-2%X(-2)
TN ERNT m=—4



